*I have to cross a homozygous dominant smooth seed with a homozygous recessive wrinkled seed answering the questions:

A. P1 individuals genotypes ____________ x _________

B. Possible gametes

*Then I have to use the Punnett square and complete the cross answering the question:

	  
	

	
	


What are the genotypes and the phenotype of all of the F1 individuals? 

*Then I have to cross the two plants from the generation above

F1 individuals genotypes _________ x _________

Possible gametes 

Then use the Punnett square and complete the cross answering the question:

	  
	

	
	


What is the phenotypic and genotypic ratio?

